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WHY ARECHEMISTS GREAT
FOR SOLVING PROBLEMS?
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I) Mass to Moles
If you have 16.7g of NaOH, convert it to moles NaOH.

Molar Mass of NaOH = ’L"qﬁ N H/ )&/ N&ﬁ\/
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How do you convert mass to moles?
divide bg mwrolar nass

II) Moles to Mass m 0,,,’,? 6{ S

If you have 0.756 moles of HCN, what mass of HCN is present?

Molar Mass of HCN = O.71S 6ol HFIC IOQ“:F.C) g HN 6.4
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How do you convert moles to mass?
LA
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ITI) Stoichiometry:
gLi(S) +’CUSO4(aq) :>'Li2SO4(aq) +1Cus) - | <1:7 é_

What mass of Cu metal is produced if 14.5g of Li metal reacts?
What should you do first? ¢ dnuver+ 4o proles -
When can you transfer from one substance to the (?QL?

()

14,567 g Tl sl £ G35 y

Unit 1 - Kinetics Page 1




When can you transfer from one substance to the oth
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Draw the mole map for stoichiometry:
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e 1: Stoichiometry Exercises
Na2504(aq) + BaClz (aq) = 2NaC1(aq) + BaSO4(S)
a) How many grams of NaCl would be produced from 80.0g of
BaCl» ?
b) How many grams of BaCl, would be required to produce 65.5g of NaCl?
2. When iron reacts with copper II chloride, solid copper and iron III chloride are
formed. What mass of copper is produced if 0.594 moles of Fe react?

IV) Molarity
Molarity (M) = MO\fs ﬂ'P %\Uk = YV\O\
LitreSof solohien L

Triangle form: ’D/ _ What is molarity a measure of?
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¥ Practice 2: Molarity Exercises
1. What is the molarity of a solution made by dissolving 2.45mol of potassium
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nitrate in 1.50L of solution?

2. How many moles of NaCl must be dissolved in 400.0mL of solution in order to
make a 0.25M solution?

3. What is the volume if 0.555mol of MgS makes a 2.00M solution?

4. Find [NaOH] when 0.32mol NaOH is dissolved in 5.00 x 102 mL of solution?
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